Worksheet 2.3

4. The U.S. military is testing a new missile and launches it from the deck of a naval ship 10 m
up from the surface of the water. The missile is launched at an angle of 50° with an initial

velocity of 60 m/s.
a. When does the missile reach its maximum height?

. What (3 4he maximum herguat?

b
c. When is the missile at a horizontal displacement of 70 m?
d. How long does it take for the missile to hit the ocean?
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6. A volleyball player serves the ball from a height of 2 m, 4 m from the net with an initial
velocity of 8 m/s and an angle of 50°.

a. What is the height of the ball as it passes over the net?

b. How long until the ball hits the ground?
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3. A projectile is launched from the ground at 24 m/s at an angle of 28°. After sometime it is at a
height of 3 m.

a. What is the vertical component of the velocity when it passes it on its way up?
b. How long did it take to reach this height?
c. How far out horizontally did it travel?
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